BASIC ALGEBRA Exam 4 (One Step Ch 4) FORMS A and B Dr. Rapalje

SHOW ALL WORK AS NECESSARY ON THIS TEST OR ON SEFARATE PAFER.
CALCULATORS ARE ALLOWED ON THIS TEST, BUT YOU MUST SHOW ALL WORK.

In 1 - 8, graph the equations and inequalities. (Show work for partial creditl)

2
1. y=-2x-12 2. ¥y= 3 3. ,1.r=—Ex+3

4., -3x+2y=0 5 Ix-2y=-6 6. y=22

7. 3 8. 3x-2y>-6
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In 9 - 14, find the slope and the y-intercept.

9, y=31x . y=1ux-6 Il y=-x+2
slope= _ slope = slope =
Y-int= Y-int=___ Yeint=

12, -2z + Sy =- 10 13, x-4y~==8 14. A vertical line
slope = slope= slope = _
Yeimt=_____ Yeint=

In 15 - 16, give the X and Y-intercepts.

15, -3x+2y=112 16, y=-4x-8

Im 17 - 20, find the shope between the two points.
17. (2, 5) and (6, -1) 18 (-2.5) and (-4.-3)

19, (=2, 5) and (4, -3) 0. (3, 5) and (3,7)

In 21 - 23, find the equation of a line in slope-intercept (v = mx + b) Truin,

21, with slope 4, passing 22. with slope -2, passing 13, with slope -53, passing
throwgh (-3, =T} through (-3, 2) throungh (5, -K].
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In 24 - 26, solve the systems of equations. (Show all work using methods from algebral)

24, x -3y=§ 25, dy-2x= 10
2x + 3y =-17 x = dy - 15
26, -Sx+ly=- 27, Sx+3y=1l4
10x - 4y = 16 Ox+d4y=17
28, I fx)=-3x+4 . 9. I gx)= —%_,
X + 2
a) i) = a) g(l)y=
b) fi2)= by gi-2)=
¢ [-2)= c) gllh=
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BASIC ALGEBRA  EXAM 4A*  Solutions
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Basic Algebra Exam 4B* Name

SHOW ALL WORK AS NECESSARY ON THIS TEST OR ON SEFARATE FAPER.
CALCULATORS ARE ALLOWED ON THIS TEST, BUT YOU MUST SHOW ALL WORK.

In 1 -8, graph the equations and inequalities. {Show work for partial creditf)

2
=3x - =-I+12 3, =—x -3
1. y=3x-12 ¥ ¥ 3
4 3-2ly=6 5 Jx+2lv~-6 6. x=-12
i
s 8. dx-2y<-6
7 _;.-:--_3_1-]- . % - 2y
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Im 9 - 14, find the slope and the y-intercepl.

9, y=3x+4 10, v=-x-1 1. y=x
slope=_ slopg= glope=
Yent=__ Yonl=__ Y-int=

12, Sx+ 2y =10 13, 6x-3y=9 14. A horizontal line
slope = slope = slope =
Y-int= ) Y-int = _

In 15 - 16, give the X and Y-intercepis.

15, 3Ix-by= 12 16, y=d4x-8

Im 17 = 20, find the slope between the two points,
17, (2, 5)and (6, 1) 18,  (-2,7) and (4,-2)

19, (3. %) and (3,7) 20, (3, 5) and (7, 5)

In 21 - 23, find the eguation of a line in slope-intercept (y = mx + b) form.

21, with slope 3, passing 22, with slope -3, passing 13, with slope -3/4, passing

through (4, 2). through (-4, -2). through (5, -6).
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In 24 - 26, solve the systems of equations. (Show all work using methods from algehral)

24. 2x+y=8 25, y = 8-12x
x-y=1 Sx+3y=19
6. Sx-2y=8 27, 3x-Sy=-3
10% -4y = & Ix+Iv=1T7
28, I fix)=3s+4, 29, I glx)= ”1':' :
=X
a) [l = a) gily=
by fi2)= by e{4)=
o) fi-2}= c) gl0)=
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BASIC ALGERRA  FXAM 48*

Solutions
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